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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P60:Σs−R17M1,s(λ)=103,14
xR17M1,s=0,2324
yR17M1,s=0,2441



CG530−6A_1

Wellenlänge λ /nm
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P55
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P55:Σs−R17M1,s(λ)=94,43
xR17M1,s=0,2419
yR17M1,s=0,2553



CG530−6A_1

Wellenlänge λ /nm
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P50:Σs−R17M1,s(λ)=84,97
xR17M1,s=0,2539
yR17M1,s=0,2687



CG530−6A_1

Wellenlänge λ /nm
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P45:Σs−R17M1,s(λ)=74,76
xR17M1,s=0,2695
yR17M1,s=0,2847
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Wellenlänge λ /nm
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P40:Σs−R17M1,s(λ)=63,85
xR17M1,s=0,2900
yR17M1,s=0,3038
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Wellenlänge λ /nm
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P35
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P35:Σs−R17M1,s(λ)=52,35
xR17M1,s=0,3175
yR17M1,s=0,3263
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Wellenlänge λ /nm
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P30:Σs−R17M1,s(λ)=40,50
xR17M1,s=0,3547
yR17M1,s=0,3519
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Wellenlänge λ /nm
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LMS_R17M1-Zapfen-Empfindlichkeit  Ysum=100
s−R17M1,s(λ)=B31x

−
R17M1,s(λ)+B32y

−
R17M1,s(λ)

+B33z
−

R17M1,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P25:Σs−R17M1,s(λ)=28,75
xR17M1,s=0,4049
yR17M1,s=0,3780


